A263] A= chHy 3 FAHI
A 12} EA

2007 119 39 (10:00 - 12:00)

1-1 ®AR A&7 247 (0,0,0),(1,2,3),(3,1,2), (7,4,7) A A2HE] Hol2 A
ahol e},

X
12 §4 fl@) = S, 1<a <29 484 gol thsjo] = —‘a/ dn & Ae

of 2}

13 A% A= {123 n}ol thotel 1719 BLE o] FolQ N2 BhE REF
2 k) Qe ek olul, A9) 9ol A4k AN kA FEAT Fo
A A% p el RRRFON B £317] ANAE k> " o]ojof FL Hofek

1-4 3;(]—1 —'7]- R3'4 }\ﬂ D}H H’“EJ Vi,V2,V3 Oﬂ '4-6]'0% é .
7} 3 o1tk = A E vy, v; 7F o] & AR ZHo) 6;; & lj—"é—"'i—o] cos i A 3x3 3y

o9 49 B e Aok

1-5 Maxo = 2 x 2P E 59 o] F& HMEFTOIIL T € Mayxo o H L o] EA Tt
ojulf, th=3} 2ol B = AT ¢ : Maxo — Maxo o) FE A2 Al 4bstoizt.
®(A) =TAT!



A26%] A= thEHy 5 G

A 2 2 A

2007 11€ 3¢ (14:00 - 16:00)

2-1 4743 ABC A 29 BO 19 A Pojl ¥iste] BP =2, BC =1, 4439 &
o] h,ZAPC = 0(z) 22l & uf], t}2& Hojg)
l
/sinQH(x)dm
0

.

4 A,Bo| tjdto] A=5"1BSE WEAY P2 S 7F 2AfsH,

22 4%
A=R'BRE WEHA7= As FE R7L AT
2-3 a1 >0, apy1 =In(l+a,) € W, lim na, =2 Y-S Hojet
n—oo
g2 noje

o0
2-4 Zan: 10 2=
n=1

2-5 AMF F:R? - R* 7 b3 =7
(4] Wel7h 1 & defe] AAd A tiste] F(A)= g7kl o Az otk

LU

olu), ele] A4 1o thatel F(1) = A4



